PHQ 1F-F2& XFX L~ 1

B Z 1L,

at+ta=24%
F+f=

2a+Ta=34%8

2 F+F =

2a—8a=1n

2 F—F =

Bl U X9z,
A+A=
B+B=

2A+T A=

2B+-B=

ata=
b+b=

2a—a—

2b—b=

B\ X2 =

T X2 =

2F+2 =

2 F+F=

f =

FlU X 91z,

A X2=

A X3=

2A 2=

3A+3=

2A—A=

JA—A=

A+A=

axX2=

axX3=

da—2=

3a+—3=

da—a=

3a—a=

A

H

( ) R&l

5X5=57?
10X 10=
10X10X10=10°

102X 103=

Y& Xz,

AXA=

AXAXA=

ZDZENG,

A? X A=

1/4



LIQ 1%F-%F2&%& XFA N1

~

/

XFLEBEARES
L%&d

7D
g v

S

3X5%, 35
YERT b whr i ndiy

axXb it ab Y &¥,
THETERT Y., 20— IIT

%?‘f\‘méﬁﬁ‘ X [E I

a><3a13a ¥ &7,
CON—INEFTETET Y,

BFEIIXFOH

ICHE

XFOMHELTWTE
ZOXFHHLEEERL TS

7C i
KF DR -nc.

Bl U X ¥ n &k
axa 01&2 EFRL

axaxa :a’ rur

h% %%kb\ﬁo

WROFEZ LRSI 0,

3a—2a

ab X ab Xab

H

( ) R&l

3aX2b

6a—2

6ab-+-2ab

6ab-—+-6ab

21/ 4



LNIL2 BHQl—2 XFA

RKOXD () 2960 % Xy

10 — (5+2)

10 — (5—2)

10X (3+2)

10X(3—2)

100—10X(3+2)

100—10X(3—2)

100—10X(a+b)

100—10X(a—Db)

R 2R Al

al)w

a=2b=3.,,u

ROXDEE Rd L X\,
KF2EEL TH 5

BAERAT B FETHEL A 30,

3a+2b

5a—(b—a)

a,b,c »

a=2|b=3|c=4

EYRELLHIZL T,
RORDEE: R 3w,

3a+ 2b + 5¢

5a — (2b + 2a)

5a — (2b — 2a)

10a — 3(2b—a)

3/4



LNIL2 BHQl—2 XFA

RO¥KEL, XFARATERLL I W,

100a 2T, a MOt q - 6D
b2z

118 a Hoset%
TEEH - 2FoRe

(M)

9 5 5 Qcm. 4 Dem 0
EFH oo @il

(cm?)

EXAecm D7 —7%5%F 5L -0
1 Kok X

50 o4 F a & ¥
SO F b2 T -tk Xe 12

(M)

a o 3% 4%k

R 2R Al

1#Z44AQcm DEFH O @il

(cm?)

144 Qecm DEFH 0BT

(cm)

Y 7 ' dcm

324 Dem 0 BEFH o 12

(cm)

EQ

(cm)

B H'Acm., & X bfbcm )

FAT e D @A 12

(cm?)

A 4RH» Acm ¥ bcm %)
R AL AE

¥ Tem oA o @i L2

(cm?)

14" Acm D SEFARD K @ig 13

(cm?)

1 4% dcm D AR thfild

(cm?®)

PATHE L A X,

dm —
dkm —
dmm —
dm?> —
dkm? —
dha —
Am-30cm= cm|
a - 72
a & - »
a» = »
awv = &
arxry -= B e

4/ 4



